The tiger is dangerous
Answer:

Bl

it is powerful.

She wants to adopt a dog
Answer:

her parents disagree.

He is tall
Answer:

his brother is short.

| like cats
Answer:

| am allergic to them.

He enjoys hiking,
Answer:

he doesn't like camping.

She is studying hard
Answer:

she wants to get good grades.

We can take a bus
Answer:

we can walk to the park.

He ran out of money,

Answer:

he couldn't buy the new video game.

She didn't study for the test
Answer:

she didn't pass.

| want to go to the beach
Answer:

it's hot outside.




The tiger is dangerous
Answer: because

She wants to adopt a dog
Answer: but

He is tall
Answer: while

| like cats

Answer: although

He enjoys hiking,
Answer: but

She is studying hard
Answer: because

We can take a bus
Answer: or

He ran out of money,

Answer: so

She didn't study for the test
Answer: so

| want to go to the beach
Answer: because

Answers

it is powerful.

her parents disagree.

his brother is short.

| am allergic to them.

he doesn't like camping.

she wants to get good grades.

we can walk to the park.

he couldn't buy the new video game.

she didn't pass.

it's hot outside.



